
Code No: 54013

JA WA HABI.AL NE HRU TE,C HNO LO GIC A! UNMRS"ITY HYDERA.B Ap
' ;..Fi.tect II Yeal"ii gemester Ex"arrrinations, M*.yii'qbrc i"'tll',:'

DATABASE MANAGEMENT SYSTEMS
(Common to CSE,IT)
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Answer any five questions
All.questions carry .e-q.ual marks

l.u) What is DBMS? What are the applications of Database system?

b) What are database languages? Explain with examples.

b) Briefly explain the additional features of ER model.

Design.an,E"R diagram'for""keeping track"of.the expioits.of..your favourite. gpprts

team. *otrishoutO store'lhe'inatches plaiiiitli-'ihe scores ifi:ba-ch match, thti.$l'dyers

in each match and individual player statistics for each match. Summary statistics

should be modeled as derived attributes.
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,::pifl) Explain"lhe'following: i);!p^leign key corrstraints ii) Queffig'relational W?|;,".'
':":'i6,i Let R L."'(4'.8, q, antl"'ied'"rr and rz hoih'"be relations"'6ir"schema R.'Give an

expression in the domain relational calculus that is equivalent to each of the

following:
i) x,a?t)

iv) ,, n r?,

Explain the following:
a) Nested queries
b) Nul1 values.

n) os:17 (r1)

v') rr * rz

t11) r,Ur,
vi) II;a(rt)

' ..t ,?'),

b)

7.a)
b)

"'8i',

Supposp."tha{ we decoqppse, the schem&.R.t (A, B, C,..P,'.P) into (A,p,Q},,and

(A,D,E)"::,Shbw that this, lilbcompositioii, i3r.lossless-joiri, dbcompositioii"'ifl.the
following set F of functional dependencies holds:
A)BC.CD)E,B)D,E)A.
Discuss about decomposttion in detail.

Explain the'implementation of locking. 
l

Explain the implementation of atomicity and durability.
Discuss about confl ict serializability.

Discuss in detail about ARIES recovery rnethod.

Explain transaction rollback.

Construct a B- -tree for the'following set of key values.
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(2,3,5,7,1 1,17,19,23,29,3 1,)

Assume that the tree is initially empty and values are added in ascending order.

Construct B*-tree for the cases where the number of pointers that will fit in one

node is as follows.

c) eight.
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